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Topic:- Agriculture 1

1) If the length of the simple pendulum is doubled, then the new time period will be: /
e TR AT BT AdaTs QR R &1 STl 8, A1 7% FH9-3@afy gt

1. 3 times the original time period / {& JHJ 3afy &1 3 RIGII

2. 2 times the original time period / HcT JHY Iy B 2 G

3. 4 times the original time period / HcT JHY 3afd &1 4 G

4 -2 times the original ime period /| H FAT AT F u"ia;rrn

Correct Answer :-

. A2 times the original ime period / & TAT HETEr # -V'EH;HT

2) CANCELLED

Identifv X and Y in the organicreaction given below:

X +KOHy, = Y (inpresence of NaNH; ) & HC=CNa /
A & S Fefae dfAEar & X vd Y & wmaE &G
X + KOHy 2 Y (NaNH, &1 3ufeufa ) 2 HC=Can

1. CH3—CH,Br Y= GH,
2. X = HyCBr—CH>Br Y = CHy=CHBr
3. X=H3C—CHBr, Y= GH,

4. X = H3C—CHBry Y = CH,=CHBr
Correct Answer :-

¢ X =H,CB—CH,Br Y = CHy=CHBr

3) A ray of light falls on a glass plate with an angle of incidence 30°. If the refractive index of glass with
respect to air is 1.5, then the angle of refraction is: /

P B TP W W TSI B TH {01 30° & 3MUa= 101 & 1Y AR 8, afe ga1 & Haey A &+ &7 3uadid 1.5 8,
aY ruad HIor B:

1. Sin™' (0.33)
2. Sin"! (0.67)
3. Sin™! (0.45)
4. Sin’! (0.03)
Correct Answer :-

« Sin'(0.33)



4) A wire of 15 ohm resistance is cut in to 3 equal parts and then connected parallel to each other.The
effective resistance of the combination is: /

15 W;ﬁﬁﬂﬁwmﬁBWWﬁmm%ﬁmWW%me%lH'TﬁT:FrWU‘l-I'ITﬁ
ufaRiy 8:

1. 15 ohm / 15 309

15 15
—ohm /| —3H
3 3

5) Generally, alkanes resist undergoing oxidation. Predict the product formed when 2-methylpropane is
reacted with potassium permanganate? /

AT b STRITHRT A ToRA W UfaRIY Helt 3 1 TG BT SHH @Y, 9 2-ARIae uie Ry wame
¥ arfuforar Hedt 82

1. CO, and H,0 / CO, Td H,0
2. Ethanoic acid and formic acid / S8 3% Td WIfHd 3
3. 2-Methylpropan-2-ol / 2-BfAUIN-2-31d

4. 2-Methylpropene / 2- AU

Correct Answer :-

e 2-Methylpropan-2-ol / 2-AfYAUIY=-2-31d

6) The weight of 10 girls is measured in kg and the results are listed below.
48, 42, 49, 50, 40, 38, 51, 46, 39, 47

The number of girls whose weights are more than the mean weight is:

10 TSPl 1 o, forum & |rar mar 3R ufvom 9 e §:

48, 42, 49, 50, 40, 38, 51, 46, 39, 47

39 APl F W& a3, e g%, I7% AT a9 | R 3:
1.4

2.3

3.7

4.6

Correct Answer :-



7) Spot the CORRECT statement from the following? /
FrafafE 3= § @ 19 a1 Hy= 9dl 32

1. Atomic mass is same as number of protons. /

TRHTY] GH, WS &1 S & THH gl |
2. Isotopes have different atomic number but same mass number. /

RIS & T TRA-HHIS BId & a1 GoHTH-GReAT THH il |
3. The nuclear model of atom was proposed by J.J Thomson. /

SIS YT GRT ORHTY] & AP ASd B Udtfad fosar T T
4. The mass of a proton is approximately 2000 times that of an electron. /

T UITH &1 5oqdM, TRIHT T Serdgi= 1 2000 0T Bl & |

Correct Answer :-

¢ The mass of a proton is approximately 2000 times that of an electron. /

TS UITH BT GoaHH, T TS Sadgi BT 2000 0T 81l & |

8) Which one of the following statements is CORRECT about particles? /
SN & IR # Frafifea & @ o9 @ YT 98 32
1. Particles of cathode rays have no mass and charge /

HUTS TebUTl b UM H Pl G HH SR ST el BIell |
2. Particles of cathode rays have only charge /

FUrS fHuT & HUll & Had SHTa= BIeT g1
3. Particles of cathode rays have only mass /

Frs =it & Pt # Fad SowH BT 3|
4. Particles of cathode rays have both mass and charge /

HTs ot & ol H GomH SIR ST G 81 3 |
Correct Answer :-
¢ Particles of cathode rays have both mass and charge /

HUTS TepUTl b UM H ZoIHI SR M 1 81 &1

9) The number of nucleons in carbon atom (C-12) is: /
FHTa-T WRHTY] (C-12) T gfFaaii=i B We &:

1. 12

2.4

3.6

4.8

Correct Answer :-

o 12



10) What is the CORRECT electronic configuration of nitrogen (atomic number: 7) according to Bohr model? /

Tex AfSd & TR, AT, (TIHIY] WS 7) BT TS TP =018 FT 22

@
@
RO
8O

Correct Answer :-

11) Helium atom has two electrons in its valence shell. Its valency is: /

T U] & U TATA TS WA BN A QY SAaei 81d & | SHP aerer gt
1.0

2.4

3.6

4.2

Correct Answer :-

12) The discovery of electrons and protons supports the fact that: /

AT 3R Ml & WS 39 921 BT gudT Hd 8 fF:

1. Atoms are indivisible / UHIT] ffaHTsT I g1

2. Atoms are divisible / UXHIT] favrsa EPI?T % |

3. There exists an atom without neutrons / QET? CACEIRD URHI] ICEEIE RG]
4. o Particles are positively charged / o P U HPRIHD U ¥ 3alRE gl %I
Correct Answer :-

+ Atoms are divisible / UXHTY] faursa g g1

13) An isotope of which of the following element is used as a fuel in nuclear reactors? /

fFrafafea & Q $19 T 9 & IURITAS 1T U Tfueig i) d su9 & =0 A fHar smarg?
1. Hydrogen/?ﬁ@m
2. Uranium/tﬁ\ﬁﬂﬂ



3. Todine / 3T
4. Cobalt / DISTeC

Correct Answer :-

+ Uranium / ?@ﬁ'{m

14) In the atom of an element, 7 electrons are present in the outer most shell. It acquires noble gas configuration by
accepting the required number of electrons, the charge on the ion is: /

TS dd S WA, 7 SAFE TG 9181 DI | IUFRIA &1 I8 TP T-AT | FAI ] B WIPR B IPpee 1
=T wTed T B, ST R 1A% g1

1. +2

2. +1

15) Identify the one that is mis-matched. /

9% o 389 7, 39 Fra B

1. Agnatha — Jawless fish / 3{ITTIT — fom Glag CINGER

2. Osteichthyes — Bony fishes / ffferiis - sifya gafert

3. Gnathostomata — Jawed fish / TR THTCT - Gla% CINEET]

4. Chondrichthyes — Bony fishes /aﬁ%ﬂ'@-ﬁ_\ﬂ - Sy Teferl

Correct Answer :-

« Chondrichthyes — Bony fishes / BIF-SaTRI — 31y wesfer

16) Girth of the stem increases due to: /
T T IRfY & 9¢73 FTFRUT©:
1. Apical meristem / ey favsan
2. Intercalary meristem / Sfqaeh favsar
3. Vertical meristem / 3&¥ fayw1

4, Lateral meristem / OTd QT

Correct Answer :-

« Lateral meristem / OT<d faHwaT

17) Organisms which can synthesise their own food by photosynthesis are called ./

3 ST S USRI AT GIRT 3T HIoH AN PR APd 8, 3¢ Palodrgl

1. Saprophytic organisms /H?ITrﬁTﬁ\_rﬁa
2. Parasitic organisms / TReid! St g



3. Autotrophic organisms / YIS Sftg
4. Heterotrophic organisms / TR Sfilg

Correct Answer :-

o Autotrophic organisms / T Sig

18) Kitchen of the cell is: /
PIHRIBT BT TS B:

1. Mitochondria /rnsaﬁ%m

2. Chloroplast /Eﬁ?lm

3. Endoplasmic reticulum / &mﬁaﬁvﬂﬁm
4. Golgi apparatus / TTeslt JUSHROT

Correct Answer :-

e Chloroplast EGNEED

19) In which one of the following plants, autogamy and geitonogamy cannot take place? /
Frafafaa o @ e ureu # aegmE ve e T8 8 awar g2

1. Orchid / 3

2. Hibiscus / feferepq

3. Bean / ¥H

4, Papaya / qutar

Correct Answer :-

o Papaya/ qdtar

20) In what way apomixes is similar to vegetative propagation? /

59 yoR SRTeAA, Tl Ua e & w9 82

1. Both occur in monocot plants only / a:ﬁ Had Qﬁm HHCI‘I A aﬁ % |

2. Both produce offspring throughout the year / M SOt Fafa 1 fAmfor UR' ¥ Fa B
3. Both produce clones of their parents / CEIEELE] Hdd & A o1 AT HA %I

4. Both do not produce flowers / Gl g bl 3dlad T A B

Correct Answer :-

« Both produce clones of their parents / ST g Hdd & T o1 At HRa B

21) The 215 term of the AP, x—7,x-2,x+3, .......... is: /
TR A0, x —7,x— 2, x + 3, e #1219 g ?
1. x+98

2.x+93



3.x-93
4, x—-98

Correct Answer :-

e x+93

22) Along with the deficiency symptom of boron, one deficiency symptom of manganese is given. Identify the
deficiency symptom of manganese. /

IR B HH & T F 1Y, AN ) HH BT TP q&or faar 1ar 31 AR B 3t & a1 &) ugar s
1. It causes abscission of flowers, fruit drop / Ug W’ﬁ Gl &I—j’q@ﬁ, Hdl & fIRA &1 HRU §d1 8
2. Play a role in the photooxidation / UPTRI RI A G| | Th 'J;[&IW fAyTar %

3. Deformation, discoloration, and disorganization of meristematic tissues / favsads Sae &1 ﬁ?‘:ﬁ, HferfhRur quT
fagea

4. Causes heart rot of sugar cane / T & 3id- AT BT HROT §dT %

Correct Answer :-

« Play a role in the photooxidation / TBTRT SHTaRITaT H U YfHesT FHTar 8

23) Hill reaction can occur in which of the following condition?

fru fRufa o fa srfufsran gt wodt 82

1. In the presence of ferricyanide / W'I'CI:ITSZ_S' D IURYTT H|

2. In the absence of light / UhTRI & ﬂq@ﬁ A

3. When water is totally absent / S§ SI¢T @ aNg I &Hq@‘ﬁ _bﬁ?ﬂ %I
4. Plants which grow in high altitude / 3% T8 S $aTs H §6d & |

Correct Answer :-

« In the presence of ferricyanide / BROEAES & IufRfa H|

24) During photolysis of water, oxygen is evolved in the light reaction of photosynthsis. Name the elements which
are involved in this reaction? /

STl & YBT TYS P RI UHT HIAWUT P Ueht2r iffehrar A sifrfter urwd giar 21 59 sifufsear &
fAfed 81 ara aa) & 9 Fand|

1. Magnesium and chlorine / fﬂfrfifrw Qa a%hﬁ——r
2. Magnesium and calcium / hifRmEs Td Sfrag
3. Manganese and chlorine / U] Td FAMNA

4. Manganese and sodium / i) Td qifeayq

Correct Answer :-

« Manganese and chlorine / ECinf od FARA

25) Which one of the following reactions is a displacement reaction? /



fFrrafafaa & A 14 It ve siftferar, fawima= sifufsear g2

2HIy> Hyy + by

1

Zn{;:. —H;SO;.H,—) ZHSO:{;_q:. & HJ.E‘;
2.

3 Mgo{;} T EHC]. 9 I\‘igCIQ.:aq:. T H:O

4, KOHy, + HCley> KClyy + HO

Correct Answer :-

Zn{;:. —H;SOLM,—) ZnSO:.;-al». T Hg{i.

26) Which one of the following is equivalent to epiblema of the roots? /

Frafafaa o @ $i9 wef ot geita @ & 90w 8
1. Endodermis / 3fa=ad

2. Epidermis / St

3. Cuticle / SUTH

4. Pericycle / gy

Correct Answer :-

« Epidermis / 3ffdrent

27) What is the function of leghemoglobin in the root nodules of leguminous plants? /
FelgR Nl & ga UfAST § AMgrHRalia- ST 1 S gial 82

1. Formation of root nodules / H{&T T 1 fAmfor

2. Oxygen scavenger / IS 3roHTSieh

3. To inhibit the nitrogenase enzyme activity / :ﬂs_@m [STIEE &1 fafafd o S1fdg B
4. Nif gene expression / it S Sifreafad

Correct Answer :-

« Oxygen scavenger / HTfIo 3roHTSieh

28) What do you mean by xenograft? /

ST 31 F 3 §2

1. A graft between two genetically identical individual / Gﬂaﬁ&ﬁ? U A APl & & & Had
2. A graft between two individuals of the same species / JHIT Sfd & <l APl & o & Had

3. A graft between two individuals of the different species / faftra Sfol o &) AfPal & o &1 v

4, Cells grafted from one area to another area of the same individual / JHI BEI'@ & Th 833[ I Qﬂi 333[ A m%g P TI'&ic

Correct Answer :-

+ A graft between two individuals of the different species / fafia snfaal & ol il & &id &1 Iwe



29) Four physiological roles of calcium in plants are given. Identify the false one. /
Hie # FHfekraw 3 9 fparare Yfired & w$ §1 399 A U Tad 31 ugeE B
1. It controls cell permeability / g PHIRABT URTRIAT D! (AT BT %

2. It helps in the translocation of carbohydrates and amino acids / g EFIETEB?{C’ quT A Qﬁl_ﬁ' & MR H Ace
FRAT

3. It regulates the movement of stomata / g TerHTeT ot nfafafdal o fRafAd wxar %
4, It is important in the formation of cell membrane / PHIRABT @Fﬁ & fAafor & g W %

Correct Answer :-

o It regulates the movement of stomata / Ug THTeT &1 Aiafafedl &I Fafd sear %

30) For the given wire of length ‘I’ m and area of cross section ‘A’ mz, the resistance is ‘R’ ohm. If the length is doubled and
the area of cross section is halved, then the new resistance will be: /

waTS 1 WY TUT SFIRY PTE BT e A W2 aTet U T aR & g, wfediy 'R 31 81 A dard SR @ STl @ o
STUR BT T GABA TUT gY 1T 2, Al 711 yfaRies ghm:

1.R/4
2.R
3.2R

4. 4R

Correct Answer :-

31) For a bivariate distribution, the lines of regression are 3x + 12y = 19 and 3y + 9x = 46. The means of the distribution are:
/

TS g g & e, gumsmor (RI=r) &1 3@ 3x + 12y = 19 GUT 3y + 9x = 46 Bl § | g & WA &

| =5
fF=ny=:
2. 3 3
e g i gl
;. By

32) Three capacitors of capacitance 3pF each are connected in parallel. The effective capacitance is: /
TRET 3pF T dF FUTfea §, e & qHFIR U | SiST orar § | guTdt omiar 8:
1. 6pF

2. 9pF



33) The electric potential inside a conductor at equilibrium is: /
ARATIRT R T 190 (Hsae?) & W fagaq uaiar &:

1. Zero / YA
2. Variable / @R

3. Constant / FRRI®
4. Constant at its geometrical centre only / I 3O ST Hs | o] RR %

Correct Answer :-

« Constant/ RRI®

34) The burns caused by the steam at 100°C is more severe than the burns caused by the water at 100°C because: /
100°C U QTS | SIS, 100°C W T | STe B SUgT e 1R 8, T -
1. Steam is at a higher pressure than the boiling water. / dT™, I oI DI U 3w Ga1d | g %I

2. Steam can spread to a large space in a small interval of time than water. / TS, H JHY 3dRTd] T O &1 3UeT U a?fr U
TP el Iohll 5|

3. Steam has more volume than the water at the same temperature. / FHI dTTHT U Sfcl DI & AT T 31 A giell %l

4. In addition to the heat energy of the boiling water, the steam contains the latent heat of vaporization. / JIAd O DI T SHol
& 3{eTTaT AT H TR0 B e ST FHfgd gl o

Correct Answer :-

« In addition to the heat energy of the boiling water, the steam contains the latent heat of vaporization. / I O DI S Sl
¥ SeraT Iy H TR Bt e ST fAfed gt g

35) The practice of bee keeping is called ./
AYATH!-UTEA BT G STl o:

1. Poultry farming / th?gff wIfEfT

2. Apiculture / Q'Cﬁw

3. Pisciculture / YT ek

4. Animal husbandry / A gaa ST

Correct Answer :-

« Apiculture / T eaR

36) The first term of an AP is 2 and last term is 50. If the sum of all the terms is equal to 442, then the common difference is
./

T FHiaY A7} BT U1 Ug 2 § 3R 3ifad ug 50 21 afe Tt ek &1 IR 442 & SRTeR @, ot " 3w gl



1. 17
2.5
3.3

4. 18

Correct Answer :-

37) The mechanical advantage of the simple machine is 3. If the load arm is 5m, then the effort arm will be: /
T ad AR &1 gifye a1y 3 81 afe WR-yer 5 Wex 3, @t Smamg-y ghm:

1.5m/5H

2. 15m /1591

3.45m /45 Ht

5 5
—m/ —#HAT
4.3 3

Correct Answer :-
e 15m/15®

38) The mode of heat transfer in which a medium is not necessary is: /
ST RIFTGRYI 31 98 faftr, oad vep wrenw smawas 781 8:

1. Radiation only / Had fafaor

2. Conduction only / FHad g

3. Convection only / FHad Tdgd

4. Both conduction and convection / dT Qa Tagd E(Pf'_‘h

Correct Answer :-

« Radiation only / &Had fafaor

39) The unit of magnetic flux density is: /

GBI JaATE T I TS &:

1. Wb

2. Wb/ m?

3. Wb/m

4. Wb/ A

Correct Answer :-
« Wb/m?

40) The sequence defined by which of the following n'™ term is not an AP? /

3 g T srgmHl & A frad o9 ug Te wHHiR doft T8 32



1.5n-12
2.2n+2

3.8n+1

g4, M T5

Correct Answer :-
4n’+5

41) The raise in temperature of the body of specific heat 2500J/kg/K and mass 10kg when a heat of 60000 joule is given is: /

%ﬁmmzsooJ/kg/KEﬁ10kgmﬁmﬁﬁ$m$mﬁﬁ@%m?ﬁq@mﬁ,w60000\‘rmaﬂmaﬁmﬁﬁ

1. 0.24K

2. 24K

3.2.4K

4. 240K

Correct Answer :-

e 24K

42) The unit for universal gravitational constant is: /
A et RRTS F 3oE 8

1. Nm?/ kg2

2.Nm?/kg

3.Nm?/ kg3

4. Nm/ kg2

Correct Answer :-

43) The average weight of a group of 25 men was calculated to be 78.4kg. It was discovered later that one weight was
wrongly entered as 69kg instead of 96kg. The correct average is: /

25 Ul & TP Y $T 3iad aoi 78.41%un ufvafera favan man) are # var e {6 e =y &1 awi+ Tad = A 96
5 &Y w1718 69 forom gof o feam man ) Tt sia &

1. 78.48
2. 8048
3.79.48

4.79.9

Correct Answer :-

e 79.48

44) The gastric juice present in our stomach has a pH of about: /



THR TR § U Fo1d (R &) &1 pH TTHIT 1T BT 8:
1.7

2.9t010/99 10

3.12t013/129 13

4.1t02/132

Correct Answer :-
e 1t02/192

45) The capacitance of a parallel plate capacitor does not depend on: /

THMIGR We T @) uifvdr 59 R ik T8 st 8:

1. Area of the plates of the capacitor / TUTRA & wiel o1 8T

2. Distance between the plates of the capacitor / TuRa & wiel & o Bt @
3. Medium between the plate of the capacitor / TeTa & @i & o9 &1 Ja1eH

4. Medium outside the capacitor / TR &1 a8’ A1ead

Correct Answer :-

e Medium outside the capacitor / TR &1 918t areay

46) The handles of the cooking vessels are usually made of Bakelite because: /

WM UHT aTd U & g8 HTH-Id: 9P dlsc & a4 gid 8, Fifb:

1. Tts specific heat capacity is very high / 391 faf1y AT &ar ggd 3= Mk

2. It can be made into any attractive shapes / =3 ot off s SR & ST ST qhdl gl
3. It is a bad conductor of electricity / dg ﬁ_g?:l?[ﬁ Uh HHldD BT gl

4. Tt is heat resistant / g HCHI TfaRieh Eﬁ?ﬂ %l

Correct Answer :-

o Itis heat resistant / g 3 CHI TfoRieh Eﬁ?ﬂ %I

1. 8n+25
2.4n - 66
3.43+8n

4.50-7n

Correct Answer :-

e 43+ 8n

48) According to the five kingdom classification, Archaebacteria is: /

Uig SITd affepRor & SR, SMTel-shary @



1. A separate group / Udh T dHg
2. An extinct bacteria / U fa(_:ﬂﬁ Saifear

3. Included in the group Archaea / JHg 3ffdhar o =mfia
4. Included in the group Monera / THg aRT =i

Correct Answer :-

« Included in the group Monera / §Hg EIENERIE ]

49) An iron rod sinks in water but a ship made of iron floats because: /
TS dlg B B Ut § §a A1dl 8, AfeT ag &1 991 SigTst ur-it # a1 Ygd1 @ wif:
1. The upward force acting on the ship is less compared to that acting on the rod. /
TS R BRI S EH 9, TS TR BRI 96 B -1 & HH gaT g |
2. The density of water is more than the density of iron. /
U &1 BT, AR & I W S BT gl
3. The gravitation force acting on the ship is less than the gravitational force acting on the iron rod. /

ST IR HRRA F@lByUl g, AR Bl B TR HIIR [oATHY0 90 I HH SIT 3 |

4. While floating, the weight of the ship is equal to the weight of the displaced water. /

A P SR, SgT BT ao, fRIfid Ut & goi- & RIS gar gl

Correct Answer :-

» While floating, the weight of the ship is equal to the weight of the displaced water. /

A P SR, SgTS BT ao, fIRTfd Ut & goi & RIS 8T g

50) Toothpastes used for brushing our teeth is generally: /

BUR gidl I 9% B & fore Iuav fre oM aret gyive 9r=a: T gla §
1. Amphoteric / IygeHf

2. Basic / §R&I

3. Tonic / 3T

4. Acidic / 3%

Correct Answer :-

« Basic/&R®

51) One of the plant parts not used in vegetative propagation is: /

MY BT 98 Th YRT St g4fa =01 # IuahT 781 forar wiran 8, 98 8:
1. Flower / Q&

2. Leaf / Uil

3. Stem / d-l

4, Root / SIS

Correct Answer :-



« Flower / Q¥

52) Name the most commonly used insect in genetic experiments? /
STFERIE TaN & SR I frd oM aTdl Fle &7 AW Fa1d |
1. Dragon fly / SATYUAT

2. May fly / Wl'ﬁq&‘ﬁ

3. House fly / ﬂiﬂrﬁﬁﬁ

4. Fruit fly / Trc] &1 Ao

Correct Answer :-

« Fruit fly / T &I AT

53) If the sum of first 13 terms of an AP is 195 and sum of first 30 terms is 960, then the sum of first 50 terms of the AP is: /

%R:;nqa?mm Aoft P UUYH 13 UST BT SIS 195 § 3R TYH 30 TSI BT SIS 960 &, ° FHAR A0 & UYH 50 USf BT SS

1. 2650
2. 2500
3. 2360

4. 2600

Correct Answer :-

e 2600

54) If the coefficient of static friction for the given two surfaces is 1.0, then the angle of friction is: /
gfe few e &Y st & fore wifae axfor &1 1o 1.0 B, 99 Tfor &1 Hior 8-

1. 15°

2. 60°

3.30°

4. 45°

Correct Answer :-

o 45°

55) What would be the formal charge on the oxygen atoms of 0zone molecule represented as Lewis structures if the oxygen

lst

are labeled as 2™¢ oxygen (left end), 1°" oxygen (central oxygen) and 3rd oxygen (right end) respectively in the angular O3

molecule?/

I3 Ga13 & ¥ A, =i T Mo 3rv] & SiTeRiier wRaTvpei W situarie sima=r «ar g1, afe sifRileH &t
ot 05 ooy & wHRT: 2¥ SifeRfterT (arai R, 17 sifRier @ sifRiter) ok 3% sifRie @faror R & dua
forar ST 82

1.0,+1,—1
2.—1,+1,+1

3.—1,0,+1



4.+1,0,—1

Correct Answer :-
e 0,+1,—1

56) Wheelbarrow is an example for: /

FHUTRAT ST SHSHT U IaTeI ¢

1. Second order lever / fgia@Ifeds Ixa® (Jhs 3fiaR dav)
2. First order lever / JUHABICH ITNAD (B TSR AR)

3. Third order lever / JaIDITCH ITAD (US 3fieX dav)

4. Fourth order lever / AgY®Ife® Iaad (B ISR dtaR)

Correct Answer :-

« Second order lever / fgdIa®Ife® IaIda® (@Tb_&' 3T ?‘ﬁTJR)

57) When an object is placed in between the principal focus and the optic centre of a convex lens, we get: /

o9 5l avg 31 99 A F GBI B d SR 1y HeA & i § 337 1T 7, ) §9 UIed B @
1. Areal, erect and enlarged image / T& Trafae, T 3R yikafid sfy

2. A virtual, erect and enlarged image / T YRR, Tter 3R uRafda oy

3. A virtual, erect and diminished image / T 3THTER, Ttem 3R B Bfd

4. A virtual, inverted and enlarged image / T 3T, IeeT 3R uRafifa sfa

Correct Answer :-

« Avirtual, erect and enlarged image / T 3T, Tter 3R aRkafdd ofa

58) When a bar magnet is placed in an external uniform magnetic field at an angle 30° with the field, then: /
9 TP gaP B1 U] B 9181 THAU gaa g 8 | 30° F HI01 W IGT o1l 3, a4

1. The magnitude of force acting on the north pole of the magnet is more than that acting on the south pole / &b & I Ya WX

HTRT g b1 ufRTor, ERoft ¢ R FHrRd 97 ¥ o1fiw §
2. The force acting on each magnetic pole is zero / PicY ﬂ_cﬁfl'q Ya W HRRA 9, izl gl
3. The torque acting on the magnet is zero / &P TR PR ﬁéw, A ?
4. The net force acting on the magnet is zero / Y&b W PTG e o, Y %

Correct Answer :-

« The net force acting on the magnet is zero / gb W PR e 9, I g

59) When a white light passes through a prism, the color seen at the base of the prism is: /

19 T oW & AT & Hibg YT ol 8, o fieH & 3R W 3am S ara 91 9% @
1. Green / 1

2. Violet / ST

3. Blue / Al

4. Red / dTd



Correct Answer :-

« Violet / ST

60) When we pull a box along a horizontal surface, the work done by the frictional force is: /
W9 59 T &fe TaE R 78 TP IR &) Wiad §, @ wfor @ gR1 e war o §:

1. Positive / Y-THD

2. Negative / BUITHD

3. Zero / [
4. Normal to the direction of motion of the body / R IR & 71 1 fo=n & qm=a

Correct Answer :-
o Negative / BUTHD

61) Why are the n2p, and n2py, molecular orbitals lower in energy than the 62p, molecular orbital in the case of N,

molecule when the MOs are arranged in an Aufbau manner? /

N, 310 & AT §, n2p, 3R n2p,, 3nfoae snfded, e # o2p, onfvaw snfiea & w0 wi g1 7, 519 onfvaw
3ifdea fAmfor a8iF (@rpars: 39R) A sgafeud f5d = 82

1. Because there is no mixing up of the 2s and 2p atomic orbitals of N atoms. /
i N RATS & 25 3R 2p 3M1fTG Mfed BT B Ay T Sar g
2. Because of the non—directional nature of the 2s atomic orbital of the N atoms. /
N TRAMSH & 25 3M1f0ges snfded &t IR-GeErs UHia & HRUI
3. Because of the mixing up of the 2s and 2p atomic orbitals of N atoms. /

N TRHTY & 25 3R 2p 310G 3Mfded & W0 F RO

4. Because of the directional nature of the 2p, and 2py atomic orbitals of the 2N atoms. /
2N TRHTISH & 2px 3R 2py 3N sffdfed Bt fe=md® Uehfa & HRUT|

Correct Answer :-

» Because of the mixing up of the 2s and 2p atomic orbitals of N atoms. /

N URHY] & 25 37R 2p AT0ae 3Nfded P HYUr b BRI

62) Phototrophic bacteria use the pigment called ./
THTR Ui ST qUics BT START R 3 |
1. Plant chlorophyll / UTqU FARIGA

2. Special photosensitive pigment / ¥ UPHTRRIAS! quics

3. Bacteriochlorophyll / CESIRSICRIRIPa

4. Bacteriorhodopsin /W@‘@H

Correct Answer :-

« Bacteriochlorophyll / EESIRSICRIRIPa

63) A solution “X” turns moist red litmus to blue. What would be the pH of the solution? /



TS faeuq «x» 99 a1d fereny &) 1 A 9ga a1 8 | fawu= &1 pH Fa1 g
1.7
2. 11
3.3

4.1

Correct Answer :-

e 11

64) How many isomers are possible for the compound having the molecular formula C,FCIBrI? /

3foq®H YA C,FCIBrl AT WP F T fram TaTaadt (smgwiaR) dva &2
1.4
2.6
3.5

4.3

Correct Answer :-

65) How does crassulacean acid metabolism help the plants? /

PRI AT TATTY Wielf B Aeg S HaT 82

1. Secondary growth of roots and stems / \_rl??f TUT T & H1eATHS fqhT gRT
2. Vegetative propagation / gIfa yae GRT

3. Metabolic activities / TaTaaT TfAfAfa gRT

4. Conservation of water / STc] TR&UT gRT

Correct Answer :-
« Conservation of water / STc] GR&UT gRT

66) Fortin’s barometer is to be set up in such a way that, its length is: /

BT ®1 Rivfter 580 TR wiifda frar w1 8, i gaat wars &

1. Parallel to the surface of the earth / q&‘:ﬁ D1 g B AR

2. Inclined to an angle 45° with the horizontal / & & WY 45° F HIT R Ela’ﬁ _§'§I
3. Inclined to an angle 60° with the horizontal / &Sl & TTY 60° P PV TR ?{I}Iﬁ E_Stl

4. Perpendicular to the earth’s surface / qzaﬁ P! Idg & dedd

Correct Answer :-
 Perpendicular to the earth’s surface / q%a? @I gdeg & odead

67) Assuming that Hund’s rule is violated, what would be the ond order and magnetic behaviour of oxygen molecule? /
a1 6 g8 & Ao & Soerad g T 3, SRS 319 &7 ey 3 H Ud ga@ 19 IagR 1 g2
1. b.o. = 1, paramagnetic / b.o. = 1, 3D



2. b.o. =2, diamagnetic / b.o. = 2, UigH g
3. b.o. = 1, diamagnetic / b.o. = 1, Ufiga®1g
4.b.0. =2, paramagnetic / b.o. = 2, 3gIHI

Correct Answer :-

e b.o.=2, diamagnetic / b.o. =2, uﬁlﬂaﬁu

68) An organic compound consisting of C, H and O contains 80% C, 5% H and the rest oxygen. What would be the masses
of CO, and H,O obtained by the complete combustion of 0.12gm of the substance? /

C, H 3R 0 A 91 Us Sef® NRF |, 80% C, 5% H 3R T} siTRiieH SufRua 31 werd & 0.2 T F quf g @
U CO, and H,0 & SSTHT T §II?

1. Mass of CO; = 0.352 gm and mass of H,O = 0.054gm /
CO, BT GFHM = 0.35271 3R H,0 & ZqHM = 0.05471

2. Mass of CO, = 0.026 gm and mass of H,O = 0.00033gm /
CO, T gTHIH = 0.026UT IR HyO &1 «dHTH = 0.00033UT

3. Mass of CO; = 0.035gm and mass of H,O = 0.0054 gm /
CO, BT SogHM = 0.0359T 3R H,0 BT GTHM = 0.005471

4. Mass of CO, = 0.026gm and mass of H,O = 0.00066gm /
CO, &I gHH = 0.026U1 3R Hy0 &1 «HT = 0.000669T

Correct Answer :-

e Mass of CO, = 0.352 gm and mass of H,O = 0.054gm /
CO, &1 GHHM = 0.35271 3R H,0 BT GHHM = 0.0547T

69) Which of the following characters would describe the best about subsidiary cells? /

Frafafea & 9 o1 It faiva seras Sk & fawg & |ataw quf= s

1. Subsidiary cells are variable in shape only / HgTddh DIRBIE Had ATHR H I et g

2. Subsidiary cells have homogeneous thin walls only / IgTddh PIRBISM & Had JoIdId Td alaR sidt %
3. Chloroplasts are absent only / P FARITRE GHQ'@R‘T G %

4. All of the above / JTRIFT Tt

Correct Answer :-

« All of the above / JURIGT TH

70) Which of the following is not a measure of central tendency? /
Frafafea & @ o= 9@ Fia ugfr st a6t 82

1. Range / ST &7’0

2. Mode / 9gdd )

3. Mean / AT (HF)

4. Median / HierepT (Tﬂ'%'&l:f)

Correct Answer :-



. Range/méﬁ)

71) Which of following is the character of bicollateral vascular bundle? /

frafafEa & & Si9 3va werat Tag- 55d Bt v 82

1. The xylem patch lies in between the two phloem patches only /
FIEeH TS, $ad &l WA WSl & 7o R giar g

2. Bilateral bundle consists of two strips of cambium — outer and inner (on both sides of xylem) only /
feaefta dse o e 31 31 ufea $fd: T a1l (F13eM & G [RI ) B §

3. All of the above /E'qéaﬂ it

4. A conjoint vascular bundle in which one phloem patch lies towards the outer side and the other phloem patch lies towards the
inner side only /

T% G Yag §5d, for Ue Teiien WS aeR 3t ok FfRd ST 3 Ud o Teiien WS daa iR &t ok fAfed g &

Correct Answer :-

« All of the above / Judad

72) Which one of the following is equivalent to the stem in a bulb? /
T A A s s I@ A aT S aaF 32
1. Disc shaped structure from which the fleshy scale leaves arise / &% SMHR &) WA o J A e arent ufr fas R

Bl E
2. Green cylindrical structures / B SEHR WY
3. Hairy roots / A qd

4. Pink colored dry scales / W JTH w Reh

Correct Answer :-

» Disc shaped structure from which the fleshy scale leaves arise / fS%h AHR B W1 o H § 7id e aren ufyal faw R

G

73) Which one of the following statements is true for the electric lines of force? /

fFrafafaa & @ o9 31 vy 90 o1 fagaq Yasit & e a2

1. A test charge will not be accelerated along the direction of the electric lines of force. / Udh TRI&fOT STa=T (éE Eﬂﬁf) CAkGE]
fagaa Xareft @t fo=n & Ty @fa =& fasar S|

2. In a uniform electric field, the lines of forces are not parallel to each other. / b FHH ﬁgq?l ?:‘H o gal ﬁm Udh QFQ &
FHMIWR Te1 et |

3. Two electric lines of forces can cross each other. / & @1 &l ﬁ@ﬂi’@ﬁ W—W Cakaraconi il

4. Two electric lines of forces never cross each other. / §¢ ®1 Gl ﬁgﬂ?{iﬂ@rﬁ W-QH% B BIc Tt Tabat g 1

Correct Answer :-

« Two electric lines of forces never cross each other. / & &I Eﬁ ﬁ@’qﬂw W-gﬂ% PPl ﬁﬂw %I

74) Which one of the following characteristics is not found to be true in case of arenes? /

T & Hay § 7 &l § & o1 91 T |8 6! urdn war?



1. Extra stability of arenes / Qﬁq & sifafvad fRRRadr

2. Delocalisation of & electrons / sﬁag”r—ﬁ CARGEIIIE]

3. Always undergoes electrophilic addition reactions / Ev'ﬁ'-‘IIT sﬁa«‘;ﬁwﬂ o sffiyferarsfi ISR %
4. Resonance / 3Tq

Correct Answer :-

« Always undergoes electrophilic addition reactions / Rl QQEE::R T e sffearel § ToRd %

75) Which term of the AP of the series 72, 63, 54, ........... is 02/
YGET 72, 63, 54, covveesnn F gUiaR Aoft ST AT UG 0 2

, 12%tem / 1279g

, Sttemm / 870G

5 9%tem / S ug

4 10%tem / 1079g

Correct Answer :-
9 term / 97 UC

76) Identify the alkene which would give butanal and propanone on ozonolysis? /

Tl UgTi=g S SNy uR sge—a 3R W= 3m?

1. (CH:);C=CH-CHCH;

5 CH:CH,CH,CH=C(CH; ),

CH:CH,CH=C(CH;),
1
3. CH:

4. CH;CH,CH,CH=CHCH;

Correct Answer :-

CH:CH,CH,CH=C(CH; ),

77) Identify the character of the phyllode from the following. /

fFrafafaa & @ gty ga &1 deor ugaH |

1. The nodes and internodes are absent / qﬁﬁ[ Qa tlff &HCI'@JH aﬁ %

2. The stem is modified into flat leaf like structure / I TUCH URH ST TR H TUTARd HESIGl %
3. Usually develops in the axil of a leaf / HTHId: Tt & Fef H fasmid grar g

4. Has reduced or modified leaves / sﬂﬁ HH T T UaRd tlﬁﬂﬁ a?ﬁ %

Correct Answer :-

« The nodes and internodes are absent / GI%fe wd qd Gﬂu@ﬁ Eﬂ?f %



78) Vacuum pump is a device that: /
AR T TP IUPHI @ S
1. removes the water from a sealed volume to make it empty /
T8 U Ties diegy A 3 W1eht B % g urft ger ear g
2. removes gas molecules from a sealed volume so as to create a partial vacuum /
T ies ITegd I 79 & sl o) FHaprardr § i siiflies Fafd Ter w9 |
3. is used to fill the gas into the given cylinders /
DT ITAN T 7T Rics &1 19§ A & forg fopar wmern 31

4. sucks the gas from outside and fill the given vessel with the gas /

TE e A TN 1 Tiadi g 3R RT T UF &1 g I WRaT B |

Correct Answer :-

» removes gas molecules from a sealed volume so as to create a partial vacuum /

T Ties dfegd A 19 & 3uaii o) Reprard 8 ifep 3iflies Fafd Sar o 9 |

79) By keeping the resistance and time constant, the current through the conductor is doubled. Then the heat produced will:
/

wfaRIY 3R THY F1 fRR @A 5T, TF 1A A okl YRT (HC) B GIAT fHaT1 S1a1 8 | 99 ScATfed IHSAT ghf:
1. remains the same / W?%Tﬁ

2. be doubled / g1 81 ST

3. becomes 8 times the initial value / RIH A 1 8 ‘l:ﬁ

4. becomes four times the initial value / 3Rf¥eb A B IR ﬂ‘ﬂ
Correct Answer :-

« becomes four times the initial value / SR HIH B TR ﬁ

80) Flexibility in plants is due to: /
e # eI P FRUI ST §:
1. Chlorenchyma /@ Xd SHdb

2. Parenchyma / Jgd®
3. Sclerenchyma / m

4. Collenchyma / EGNIGEY

Correct Answer :-

» Collenchyma/ PENIGEY

81) Find the incorrect match from the following. /

frafifeEa & @ Toa frem ga 3

1. Osmotic pressure = turgor changes / TRTERUI G&Td = TWhid gfad

2. Cohesion tension theory = transpiration pull / IS d-ITd Ryid = g Rdama

3. Pressure potential = hydrostatic pressure theory / ¢8I &HdTl = 3@@% EICARS AL



4. Stomatal movements = K+ transport / IY-TTfd=K+ uRkagd

Correct Answer :-

» Osmotic pressure = turgor changes / RIRON gaTd = TWhid aRad

82) The enrolment of a school during 5 consecutive years was as follows:

1490, 1840, 2100, 3600, 2520. The mean of the enrolment of the school for this period is ./
TR Uid 991 & SR, T faemerg &1 wmaie- Furgar o

1490, 1840, 2100, 3600, 2520. 39 3@fY & g fIemera & AHIGT 1 ATH el
1. 2140

2.3220

3. 1980

4. 2310

Correct Answer :-

e 2310

83) [Ni (CO)4] is a/an complex. /
[Ni(CO)l TH____ Wi gl

1. anionic / BUTAMT

2. cationic / YT

3. neutral / 3&IEH
4. bridging / Ig-§¢H

Correct Answer :-

e neutral / 3q g

84) The cumulative frequency distribution is given below.

C.L 20-30 30-40 40-50 50-60 60-70 70-80
cf 8 18 27 52 58 70

Which of the following has the maxinum frequency? /

AT Tt aiERar ded (daRen) &= = g

CI | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Cf 8 18 27 52 58 70
fAFafaf@d & @ fhadh aardr @& sfe+ 572
1. 70-80
2.30-40
3. 60-70
4. 50-60

Correct Answer :-

e 50-60



85) The cumulative frequency distribution of a certain datais given below.
ClL : 510 10-15 15-20  20-25 25-30 30-35
CF: 6 10 22 30 40 47

Which one of the following is the frequency of the median class of the data given? /

s faf¥ad Ser &1 gt aiarar o A Gar mar g

CL :5-10 10-15 1520 2025 2530  30-35

CF.: 6 10 22 30 40 47
TFAe@d & § &l f2v 2w 3e7 & Arfeasr g9 7 dIRaRdr &7

1.30
2. 12
3.10

4.8

Correct Answer :-

86) Ky ,r =055 then fmd 57 r3 ./
afE By r =55, dl B, r3 AT SHifaw]

1. 55

4, 55°

Correct Answer :-

coe(@,—A,)
cos(d, +8,)

£ i coe(@,—8;)
tﬂngi o 82 i k’HT cos(ﬂ._+92) - I

87) Iftan6, tan@, = k, then

[y
|
=



88) 2 2
Ifx=8cos’f, y=8sim’f, thenXz + yz = -

1

g x =8 cos8. y =8 s, of JCS +ys=__ |
1.1
2.4
3.2

4.8

Correct Answer :-

89) |1—sin|9_
4 1+=ind

1, Sec Gtan@

2 secd —tan@

3, tand —secd

4 secf + tanfd

Correct Answer :-

, secd —tanf

90) 1 £ Ed
Value of 92 X 92 X 927, .. ...............00 15 ol

1 1

92 X 92 X927, ... ... ...COHTHIA Bl

1.3
2.1
3.9

4.27

Correct Answer :-



Whatis the correct way of arranging the following carbocationsin the increasing order
of hyvperconjugation interaction?

[=n-propyl carbocation

II =tert. butvl carbocation

Il =isopropyl carbocation

IV = methyl carbocation /

T AT & e &4 7 raeli@d el & ogaieed &
T TG TR =T 57

I = nGIftdel Hdihere

Il = Ceiiieh SUETsel Shlaleher=

I = Fsamite dafder

v =TAuse wEkee

LI<IO<II<IV
22II<I<II <1V
3.1 <III <I <IV

4.1V <I <III <1II

Correct Answer :-

o IV <I <IIT <1II

92) §infA+ Cos®A+ 35in?4.Cos?4 =

1.3
2.1
3.2

4.0

Correct Answer :-

93) Ifa. b, carein AP and x, v, z are in GP, then the value of x¥~¢yc-2z8-8 = o
AfE a.b.c FATH AT H § 3w v.z BIUﬂFIT Aoft & & AT xb-oyoeze~t HIHE =
1.1
2.0
3. Xyz
bc

4, B

Correct Answer :-

94) If A lies in 224 quadrant and 3 tan 4 + 4 = 0,then the value of 2cotd —5cosA +sind s it

afe A, 2'aquir & Rd § 31X 3tand +4 = 0,a1 2cotd —Scosd +sinA & AT Bl

37

1 10



23

3, 10

53
4 10

Correct Answer :-

%) 14c | 1N and 10 are: / %, BN IR G0 &

1. Isotones / JH (TSIICT)

2. Isotopes /W(H ZYIeIe)
3. Isobars / JHGIE (Wﬁ)
4, Isoelectronic /ﬂﬂg@ﬁg\l&ﬂ (Gﬂgﬁ_ﬁa@ﬁﬁ)

Correct Answer :-

« Isotones / FHAM (3MSTIC)

96) Solve:/
gl Shifaw:

V14 tan?@ 1+ cot?@V1— cos?8 V1 — sin?g

1.1

2. sin 6
3. cosec g
g

4. sec

Correct Answer :-

97) 1Ifsec® —2=0and 0 = @ = 90°, then what is the value of 87/
afe secd 2=03 0 =6 < 90°, AT 6 &1 AT FT &7



98) 3 teym from the end of the GP

aluﬂmauﬁigi ...................... —_ F AT ¥ 5% ug &

1

o
o
£
=]
ok

99) X

3 cosf 5
If tan@ ==, then evaluate ————S988C8
4 2zectd

g-— : :
Afgrtang =2 8t _E=F 7 HoARA H

2zech

100) The given figure is an experimental set up involving reactants HCly,y) and NH; g, Identify the type of
chemical reaction taking place. /

A &2 man B, o gEincAS 8§ N B OEH HHPRS HClmn T NHyzer AT
&1 e arelr IEafas FfEfET gwafae

h.f‘l‘
STy
i L
S

Cotton dipped White fumes Cotton dipped
in aqueous HCL inaqueous NH_

1. Combination reaction / aIoi S1fHfehar
2. Double displacement reaction / Tga=ITa 3ffifchar



3. Redox reaction / Y81y 3ififerar
4. Decomposition reaction / 3fUdc Sfferan

Correct Answer :-

« Combination reaction / Far 3ifferan

Topic:- Agriculture 2+3

1) CANCELLED

While preparing butter, the churn should be filled up to: /
AFE dIR HId T AU PI fHa=1 wR1 ST 91fgg?
1. V2 of its capacity / SHDT & BT SATT

2. Full of its capacity / D! &A1 UR BT

3. 1/3' of its capacity / 3P| &HAT BT Tdh fogTs

4, 1/4M of its capacity /W &HAI T UD Zﬁ?‘ﬂg

Correct Answer :-

« 1/3" of its capacity / SPY &A1 BT U [gTs

2) CANCELLED

The horse power obtained from one bullock is: /
TS Ja | e g1l ufa ure g @:

1.0.10 hp

2.0.50 hp

3.1hp

4. 0.75 hp

Correct Answer :-

3) CANCELLED

The height of roof at side in stanchion should be ./
REE AP RodA HIrE e =iRu
1.5.2m/52 ™R

2.4.4m/44 R

3.24m/24 R

4.48 m/48HR

Correct Answer :-

« 24m/24HR



4) fruit crop is only propagated through seed. /

W aTel B, $ad die gRT gaTd gt 81
1. Sapota/?ﬂf
2. Mango / 3H

3. Banana /W
4. Papaya /gt

Correct Answer :-

« Papaya / gdtaT

5) _______is a seedless variety of mango. /
__ Al derfed frwr gt 81

1. Sindhu / Rig

2. Amrapali / ST

3. Kesar / &R

4. Sonpari IR IGLeEl

Correct Answer :-

« Sindhu / Y

6) Seedless in bananais due to: /

dorfea Far F PRU BRI

1. None of the above / STRIG & ¥ 13 g1

2. Vegetative parthenocarpy / FTfd NG HaT
3. Stenospermocarpy / AR

4. Stimulative parthenocarpy / IaoH N HHE

Correct Answer :-

e Vegetative parthenocarpy / FTfd NG HaT
7) _____is an example of dioecious crop. /
QU G BT TP IR 3|

1. Papaya / Udiar

2. Tea/d™

3. Mango / 3H

4. Coconut / TRId

Correct Answer :-

« Papaya / qdtar

8) Lalit is an improved variety of: /



wferd f=T 1 g I=1d fre 8:
1. Papaya /qdtar

2. Banana / al

3. Guava / 3H*q

4. Mango / 3{H

Correct Answer :-

e Guava / 3HEq

9) NPK are regarded in plant nutrition as: /
el & Tryor & TAde @) A AT S @
1. Micro nutrient/ﬁ&ﬂw

2. Trace element / &1

3. Non essential / HATdRIH

4. Macro nutrient /Q’E’?‘[W

Correct Answer :-

» Macro nutrient /QE?[EﬁW

10) Which of the following is the best example of combined sources of fat and SNF? /
freferfaa & & B a1 391 3R THTTw & WO Skl o1 A4t Serexvl 82
1. Lactose powder / AT TS

2. Skim milk powder / &1 g U3 (RepH e UI3e)

3. Whey powder / HET UT3SX (%QTB—ST)
4. Sweetened condensed milk / H13T Hafd )

Correct Answer :-
« Sweetened condensed milk / HIT Hafd [l

11) The sensitive stage to moisture stress in sorghum is: /
TRy & T ufoea & forg SaeT=ita wor 3:

1. Grain filling only / Rt 3T 4RTT

2. None of the above / E:Iﬁ | ﬁé’ :‘Iﬁ

3. Flowering only / % qu+

4. Both A and B/ A 3R B &1

Correct Answer :-

« Both A and B/ A 3R B g

12) Sweet orange belongs to the family of: /

a1 Hav1 fr=1 uRaR | Hefid @:



1. Rutaceae / ¥¢d
2. Vitaceae / faest

3. Bombaceae / T
4. Rosaceae / Joidt

Correct Answer :-

« Rutaceae / 3cH

13) The most popular method for mango planting is: /

TR & 90T B waiire i faft 8:
1. Contour / GR¥@T

2. Rectangular / 3TIdTHRR

3. Square / THR

4. Diagonal / faaof

Correct Answer :-

« Square / THR

14) Government introduced crop insurance schemefor___ . /
WHRAGIA AT S F forg 3= fam

1. Drought risk /@ TR

2. Problem soil / Hal BRI

3. Weed infestation / WRUAAR HhHUT

4. Pest attack / BIC 3MHHTT

Correct Answer :-

e Drought risk / @ TR

15) Fruits and vegetables are rich source of vitamins and minerals and they are called as, ./
wd Ud i, faerfiq 9 @foel & gy dagla g sk a Pgad gl
1. Staple food / UHY 3TER

2. Energy food /wfgaa@m

3. Protective food / TR&® Q@I
4. Nutritive food / tﬁ'@%@'@l

Correct Answer :-

« Protective food / TX& @]

16) Candling of eggs is done to: /
it Ft Hsfer e F g ot aiwedt 3:
1. Test the viability of embryo only / &Had Yur DI STAT&HdT o TRIE0T o forg |



2. All of the above / SURIad T & ferw
3. Mark the presence of air sac in eggs only / &aq e o CIecal fafed & & forwl
4. Find blood vessels in eggs / ad Sl A Wﬁwﬁﬁ Ca § e1® ﬁ”ﬂll

Correct Answer :-

« All of the above / SR G+t & 1%1?

17) Blossom end rot in tomato is due to deficiency of: /

THTER ® qUTI-fTd AqH g o) P H S PR B
1. Tron / 3{TARA

2. Potassium / ueRrm

3. Nitrogen / :ﬂg_gﬁ\_ﬂ:f

4. Calcium /%%ZTEI'H

Correct Answer :-

« Calcium / HieRraH

18) Lalbagh Garden is situated at: /
ATANT ST o fRya gl
1. Orissa/31- S0

2. Lucknow / W13
3. Bangalore / TR

4. Mumbai / Haé
Correct Answer :-

» Bangalore / SR

19) The arrangement of soil particles is referred to as: /
EIPM P ATATHI & =T A FHT ST B
1. None of the above / S0 I ﬁ's‘ Bl

2. Soil structure / & AT

3. Soil texture / Hal §41dc

4. Soil organization / H&T TS

Correct Answer :-

« Soil structure / Hal T

20) What is the percentage of nitrogen in urea? /
gfea ¥ Arge o &1 ufa=rd |82
1. 46%

2. 56%



3.36%
4. 42%

Correct Answer :-

e 46%

21) What is the organic matter content of soil? /
a1 &1 Hraf- yerf A w82

1. 20%

2.5%

3. 10%

4. 15%

Correct Answer :-
e 5%

22) What is the main component of survey field book? /
[T &F YRah BT Y- aad FqT 82

1. None of the above / Wﬁ@m 7‘|€[

2. Name of the location / &I hT HH

3. Name of the surveyor / & H1 AW

4. Measurements and descriptions / HIUT 3‘ﬁ? faazor

Correct Answer :-
o Measurements and descriptions / HIUT 3R fgaror

23) What is the use of a compass which is used in surveying? /

[deru1 & TP ST BT T W4T el 2

1. To measure the depth / TTEXTS 1 AT & farQ

2. To measure the slope / ST &I ATYH & fag

3. To measure the gravity / & ! AU & forg

4. To measure the direction of a line / Tdb T o1 &I 1 AU & forg

Correct Answer :-

o To measure the direction of a line / W@T P el I AN & ﬁ*ﬂ!

24) What is the total number of soil orders? /
a1 HHI (ATad 3ATSR) B ol WS FT 82
1. Thirteen /a?_b'

2. Nine /:ﬁ

3. Eleven / TUR®



4. Twelve / dRg

Correct Answer :-

e Twelve / dRE

25) Alternate bearing is observed in which of the following fruit crop? /

frafafaa 9 9 5w v o waa # dsfcrs s (sifrexe faafim) @ s 32
1. Guava / 3H&q

2. Sapota /?ﬂ%

3. Mango / 3TH

4. Papaya /qutar

Correct Answer :-

« Mango/ 3H

26) Carrotisa____ pollinated vegetable. /
TORUE _____ WRAT il g

1. cross / PTH

2. often cross / IfIBaR pII

3. self / T

4. none of the above /G'Cﬂiﬁ?f =k m T‘|_'E§:f

Correct Answer :-

e cross / P

27) Oil palm is mainly propagated by: /
ASHIAN,_ gRIIUA fpar wran 31
1. Seed /a%r @3}

2. Grafting / HH EIRES (ﬂm

3. Sucker / YD (HPR)

4. Offshoot / TRIT (1P T[C)

Correct Answer :-

. Seed/aﬁ\_ﬂ@@

28) Which tillage is also known as stubble mulch tillage? /
P9 I JaTs B §SIGR UAdR AT &b = H ST 1T 872

1. Zero tillage / ][ \_{Fﬂé
2. Conservation tillage / TR&UT Sfd 3

3. Off season tillage /TR At T{KIT%
4. Minimum tillage / <J7dqH TS



Correct Answer :-

+ Conservation tillage / TR&UT Jd 3

29) Tongue grafting is a modified formof ____ ./
TNWMRT ST UH IMRAFUEI

1. None of the above / B’CR}['CH o Pl el

2. Inarching / Q:T\’rlﬁ'[

3. Saddle grafting / Jsd MG

4. Whip grafting / f&gq a1t

Correct Answer :-

o Whip grafting / gy mftd

30) Chrysanthemum is a: /

TS e TE Bl

1. Often cross pollinated crop / 3R - P IRATU e d
2. Self pollinated crop / ¥ URNT0 (A

3. None of the above /Wﬁﬁaﬁ_ﬁcﬁ

4. Cross pollinated crop / P19 TR0 Bl d

Correct Answer :-
e Cross pollinated crop / P IRV (e

31) The crops of different heights are grown in cropping system. /

_____ %Hd Usia A it Sarsal o) waa & ST S g |
1. alley / dIfepT

2. multi storied / §g HiSTel

3. relay / R@

4. sequence / 3IHH

Correct Answer :-

» multi storied / 95 Hforar

32) Growing of trees for timber along with crops is knownas _____ ./
Tl S A AHS F U A B I FFUAAAIAET I
1. Agri-silviculture /g?f@la:r-a?h

2. Agri-horticulture / w EINEGIGI

3. Horti-pasture / B'\IJ_Cpf-EI\'IJ'EER

4. Horti-silviculture / gﬁ-mw

Correct Answer :-



o Agri-silviculture / ?ftf g

33) Striga weed is associated with: /

WEMEIUAER _____ A GalRa
1. Mustard / SRS

2. Maize / Fdeb1

3. Sorghum / TRGH

4. Wheat / T§

Correct Answer :-

e Sorghum / IRYq

34) Sugarcaneisa

AT T ey gl
1. short night /ﬂ'ﬂ?‘lﬁ

2. short day / Eﬁ:{ﬁ?ﬁr
3. long day /& feag
4. day neutral / fga9 fA=Ug

Correct Answer :-

« short day / 7Y fdaq

35) The capacity of soil to produce the yield is called as Vi

U DI I S B GT BY & Fgard gl
1. soil index / Ha&T JAbiH

2. soil fertility / F&T Sd=al

3. soil capacity / Hal &HdT

4. soil productivity / Hal TGl

Correct Answer :-

« soil productivity / H{al Sdladhdl

36) The Blue Revolution is related with: /
1. Milk production / g¥ 3dTlq

2. Food grain production / WLl Sdlg
3. Oilseed production / fad@g IdTe"

4. Fish production /q@?ﬁm

Correct Answer :-

« Fish production /ﬂ@?‘ﬁm



37) Which system of irrigation is not practiced usually? /
Ri=ms Pt P19 W vfa 3mdR W uged T8 gt @2
1. Canal irrigation / -TgX ﬁﬁl'l’it

2. Lift irrigation / 3&8 ﬁﬁﬂ's‘

3. Subsurface irrigation / UG ﬁﬁﬂé

4. Sprinkler irrigation /Wﬁﬁﬂ%

Correct Answer :-

 Subsurface irrigation / 3UHdG ﬁﬁﬂ_&;

38) Which soil structure is the best for plant growth? /
B W eI WEAT, Nl 1 P & fore qaiaw 82
1. Platy and round / g4Ic 3R A

2. Angular and platy / Hivfig 3R gure

3. Granular and crumb / E'ﬁ_d'l? 3R oI

4. Cylindrical and spherical / del-Ih R 3R MATBR

Correct Answer :-

« Granular and crumb / HER 3R o>

39) Water soluble phosphorus content in single super phosphate is: /
THd U BIebe § o ga-2ie BIem e AT &

1. 24%

2.28%

3.32%

4. 16%

Correct Answer :-
o 16%

40) The chemical used to kill weeds is known as ./

T St f WRUGAR HY T He F R T g e, wead dl
1. Herbicide / RMbTRIT

2. Insecticide / PICATRIB

3. Pesticide / TS @RI

4. Acaricide / W'I"\’ﬂ

Correct Answer :-

« Herbicide / MBI

41) Which of the following is a form of repair grafting? /



frfored § & $19 iviar $od aivs (TR W) $1 76 w82
1. None of the above / SUad & J ®Is Aa!

2. Top working only / Ryt =i & (2T afdm)

3. Bridge grafting only / Rt foet ey atermT (foret wnfoe)

4.Both A and B/ ST A 3R B

Correct Answer :-

 Bridge grafting only / Ry forst e aterT (m m

42) Which of the following method of storage is used for storage of fruits and vegetables on farm? /
Wdl # wal 3R Aol & HeRUI & e fa usifa &1 SuahT faa sirar g2

1. Zero energy cool chamber / [ Soll 2 wer

2. Cool store /‘x’ﬂ?‘f USR

3. Modified atmosphere storage / TN qTTaRTT HSRUT

4. Controlled atmosphere storage / IERIEGCIGICRURT IR

Correct Answer :-

e Zero energy cool chamber / [ RIRET]

43) Which of the following facilitate surveying even in night time? /

Ty wra § ot Fafafaa § @ o4, adeon @ aRd 99ma1 82
1. Compass / HHIT

2. Inclinometer / STHfcHTUT

3. GPS / Sidiey

4. Chain / 4TdTY

Correct Answer :-

« GPS/SdITyg

44) Trickle irrigation is also known as: /

o gem R s am R s smar 2
1. Sprinkler / FIHER

2. Drip /T84

3. Flood / WIS

4. Bubbler / I&X

Correct Answer :-

» Drip /ﬁ'g'q

45) Which herbicide is used for the control of weeds in groundnut? /

HEet & TRUGAR S =01 F RIT 14 Q1 AThTI Uge g1 82



1. Paraquat / WRTe

2. Simazine /f@lﬁﬁ?ﬂ
3.24-D/2,4-81

4. Fluchloralin / Wﬂﬁﬁﬂ

Correct Answer :-

« Fluchloralin / qﬂjﬁ‘hﬁ:{

46) Higher water use efficiency is observed in irrigation method. /

Riarg usfa & I 9o ST S&raT BT 3@ ITAT AT
1. ﬂood/tﬁ‘h?f
2. furrow/@

3. drip / %'q
4. sprinkler | FBiPeR

Correct Answer :-

. drip /T

47) The removal of dried flowered shoots in canna is: /
MA@ TR AR A ger, 21

1. Training / EI'QT&‘I'UT

2. Dehorning / @ﬂ@'ﬁﬂ

3. Mattocking / SMYRAT a1 e (ﬁ??ﬁﬁ?_rl)

4. Deshooting / gierfes
Correct Answer :-

« Mattocking / 3THTE quT BT (Heeife)

48) Finisher ration is given to broiler poultry birds at what age? /

SiTgeR dieeht uféral ot aRvsp R =1 (e =) fve amg & feram wiman &2
1. 8 to 21 days ofage/8®21 fea @t Gﬂ'ﬁﬁ

2. From 22 days up to sale / 22 & 9 aa fopl ad

3.0to 7 days of age / 0 ¥ 7 fgT & g &

4. 9 to 20 weeks ofage/9ﬁ20maﬂ &ﬂ'ﬁf{

Correct Answer :-

« From 22 days up to sale / 22 f&q 9 da fah! &

49) The process of putting the vegetables into suitable containers of required and desired sizes is called as .
gfowal # 9ifesd iR IUYa PR aTd fEa & v & PEISTaT gl
1. Packaging / Eain



2. Trimming / é,\ T
3. Shining / QM
4. Grading / PISE

Correct Answer :-

e Packaging / BT

50) The moisture content of ghee should be: /
ot & 7 Y 7 fre gt anfe:

1. Not more than 0.5% / 0.5% & 31f€|7‘5'_‘|_69f
2.Upto3%/3%ddH

3. Less than 1% / 1% d &H

4.1t02%/ 19 2%

Correct Answer :-

« Not more than 0.5% / 0.5% I 3{@?5:1?3[

51) The flavor of milk is a blend of the: /

U P WG 4 &1 fyor gar g:

1. All of the above /B'Cl?iaﬂﬂ'l-ﬁ

2. Presence of phospholipids, fatty acids and fat only / HId U BIRBIATS, ﬁ@"r e aam
3. Presence of lactose only / e dci Iufyd adtl\,ﬂ

4. Presence of minerals only / Fad IURYd @il

Correct Answer :-

« All of the above /BTRiaﬂ qut

52) The average freezing point depression of cow milk may be taken as .
TR & g4 &1 3fd f3id sra=a=T & ®U ¥ forar S wwar g1

1. 1.549°C

2. 1.547°C

3.0.547°C

4. 0.549°C

Correct Answer :-
e (0.547°C

53) The new castle disease is also known as: /
I A B = A F ot ST e
1. Bird flu disease / §S W\@T

2. Marek’s disease / TR T AT



3. Ranikhet disease / JRAd INT
4. Gumboro disease / T@ﬁ T

Correct Answer :-

« Ranikhet disease / TR INT

54) The swelling over hip, thigh and shoulder is a symptom of which of the following disease? /
T2, WY 3R &9 R Yo afif@a & @ {5 I &1 aeor g2

1. Black quarter / i FaTeR

2. Brucellosis / mﬁm

3. Anthrax / i@?ﬂr

4, Mastitis / ﬁm

Correct Answer :-

« Black quarter / P FdTex

55) The age of animal during 6 to 12 years is calculated by the: /

63 12 79 & SR Ui F} Mg F} 0T A F gRI B AT B -

1. wear and tear of permanent incisors / Rt W P fhitrrs“ Qa ﬁm

2. available number of teeth / SRS GIall b1 TN

3. teeth eruption / dl b IER (XX)

4. number of pairs of temporary incisors present / SUTS Wﬂé W oA ® ﬂ"ﬁf D B

Correct Answer :-

o wear and tear of permanent incisors / Rl W B ﬁﬂ'l_ﬁc &) CARY

56) The vegetable which is acidic in nature is: /
9E Tooit, STt upfar 7 i gl @:

1. Tomato / THICX

2. Potato / 3{T¢],

3. Okra / T3S

4. Brinjal / CUC|

Correct Answer :-

¢ Tomato / CHICR

57) Giriraj breed of poultry is developed by: /

Fape B i T fefafaa g fae i fear man @:

1. Project Directorate of Poultry, Hyderabad / PISES @ﬂm 3 thc_t;pf, %W
2. CPBF, Mumbai / iU, grag

3. CPBF, Hesaraghatta / Sdieuw, %W



4. Veterinary College, Bangalore / deIR W\I%Tﬂ, STAR

Correct Answer :-

» Veterinary College, Bangalore / e Hicd, FTEAR

58) Ripened fruits emit which type of gas? /

7% wd, fra 19 @) Sxafla w3 82
1. Ethylene /Qﬁﬁ‘ﬁ:{
2. Methylene / Al

3. Methane / Iﬁa:f
4. Ammonia / 3T

Correct Answer :-

o Ethylene /T IR

59) HN 260 layer bird produces eggs per year. /
TIT 260 AR §S fa I ST FT ITE Hel 3
1. 250 to 260

2.210 to 230

3. 240 to 250

4. 230 to 240

Correct Answer :-

e 250 to0 260

60) While collecting the semen, the angle of artificial vagina should be____ ./
94 & HURu & ERE, Fhm A S ST g anfeul

1.35

2.45

3.55°

4.65

Correct Answer :-

61) Cattle should be weighed usually onceina___ ./
MR FTIMAR R ¥ U IR aoid fpar 91 Tnfgel
1. week / Wl

2. month / HIE

3. year/ CL

4. 3 months / 3 HIg



Correct Answer :-

« month / HIg

62) Vegetables are richin ./
uferai, dugs gl

1. oils /A

2. fats / 9T

3. minerals/?@lﬁ\—fl

4. proteins / IGEH

Correct Answer :-

¢ minerals/ Eﬁ\_ﬂ

63) Vegetables are __ in nature. /
aferat, ypfad SR E

1. acidic / 3

2. slightly acidic / AT AT

3. alkaline / &I

4. highly acidic / 3= 3T

Correct Answer :-

o alkaline / R

64) Injection of Vitamin D3 @ 10 million I.U. intramuscularly a week before parturition is given to avoid

disease. /

UHd & TS guwrg gd, U=l # faerf® = p; @ 10 e Lu. &1 s9em, T | TR & fore faam sirar
gl

1. Dystokia / fswaifara

2. Milk fever / fFieeh iR

3. Cervico-vaginal prolapse / W-aﬁrﬂﬁ Ui
4. Tympany / femt

Correct Answer :-

« Milk fever / flied BIaR

65) What is the objective of providing housing for dairy animals? /

S uggeit & T SMaTT Ue e B4 &1 T ST BT R?

1. To increase efficiency of labour only / CESELEIKG aaﬁ feri

2. All of the above / SUJad T+t

3. To protect from wild life and theft only / &Had STl q?l\’rﬁ EEINEECIECARY

4. To provide maximum comfort to animals only / FHad q'%l&h B! HfYHaH 3RM 1 & o



Correct Answer :-

o All of the above / B'Cl?iaﬂ it

66) What is the causal organism of bacillary white diarrhea disease? /
38 A S 1 oftary] IR g1ge STARAT IR BT HRUT ST 32
1. Aspergillus fumigatus / FW%W 177_9?7?5'_\’7

2. Salmonella pullorum / WW

3. Herpes virus / gt qigvy

4. Avain Reovirus / Wﬁm

Correct Answer :-

o Salmonella pullorum / WW

67) What is the dressing percentage of Osmanabadi breed of goat? /
TP B} SWFTETE 7w b1 SR ufe=ra fora-n gar 82

1. 60-65%

2.25-35%

3. 55-60%

4. 45-50%

Correct Answer :-
e 45-50%

68) What is mean by ration? /
I | T AT 82
1. It is allowance feed given to animal for a period of 8 hours. /
g 8 U< PI 3fafd & forg ugy &t R gy & forg fan oA are a1 ]
2. It is allowance feed given to animal for a period of one month. /
g U HTE B1 37af¥y & forg ugy &Y HRoT Uiwor & forg fan <= ara a1 8|
3. It is allowance feed given to animal for a period of 24 hours. /
g 24 ° B 3fafy F fore uxy Y 4Ror Twor & fore feam o arer IR B

4. It is allowance feed given to animal for a period of one year. /

g U a¥ o1 fafd F e U] o1 4Ror awor & fore feam o arer arT ]

Correct Answer :-

« Itis allowance feed given to animal for a period of 24 hours. /

g 24 ° &Y 3fafd F fore uxy HY 4Ror Twor & fore feam oM arar IR B

69) What is/are the symptom(s) of rinderpest disease in cattle? /

AR § Rrevuve I & Fa1 A& §1d 82



1. Shooting diarrhea only / FHad Byl FoRl B3I R
2. Salivation only / FHad AT

3. Only necrotic ulcers or erosion on oral mucus membrane /

S JEII IS FIA (3T FH Y H) TR SHADe B1d a1 SHR
4. All of the above / JURId Gt

Correct Answer :-

« All of the above / SR gt

70) What should be the maximum concentration of crude fiber in poultry ration? /
PIPC UTa- I=H F URSHd BIgar &1 fUwman digar fea-t gt aige?
1.81t0 10% /8 ¥ 10%

2.6108% /6% 8%

3.1103%/183%

4.3105% /39 5%

Correct Answer :-

. 6108% /69 8%

71) What should be the temperature of water present in an artificial vagina while collecting the semen? /
I & Twreur & g FHW A A Uisgg U ST arga fean g Ty

1.30°C

2.45°C

3.60°C

4.75°C

Correct Answer :-

72) Dairy cow with “Very Good” grade scores _______ points in judging score card. /
50 3D VS TR AN ST M IBR PIS S AHAIR 3P Ued Hrail g
1. 90

2. 70-80

3. 85-90

4. 80-85

Correct Answer :-
e 85-90

73) Colostrum is given to: /

Jagry f=1 ) e wiran &:



1. Calves age of 6 months only / FHad 6 A8 Waﬁa@%ﬂ@_&ﬁﬁ
2. One month old calves only / Had U Hlg 1Y ar a@%/a'@—eﬁ P
3. New born calves only / CENECEI] a@%/awaﬁ

4. All of the above / JTRIGT TH BT

Correct Answer :-

« New born calves only / $ad Aa9d TS S/ATS! B

74) Berseem contains of crude protein. /
etk Sufespd M gar 2|

1. 17-19%

2.25-27%

3. 12-15%

4.21-23%

Correct Answer :-
o 17-19%

75) Back crossing means: /

Uy Fpor &1 e erf gl @:

1. Mating of crossbred female to one of its pure breed male / bR HIGT BT SHb & TS R o AT

2. Mating of crossbred female to one of its pure breed parent / Teh< HIGI BT 3HD g ATl TTa-fdT & Ay Gt
3. Mating of crossbred female to one of its pure breed female / T HIGT BT sﬂaﬁ & ST HTET & 1Y GO

4. Mating of crossbred male to one of its pure breed parent / HhR R BT D & IR T & Ay G

Correct Answer :-

+ Mating of crossbred female to one of its pure breed parent / bR HIGT DT FHD Y& IS AT & Ay G
76) Onion is which kind of crop? /

wTe f5H TPR o BHd 82

1. Long day plant / aﬁmm

2. None of the above / G'CREIHH TIPS T8l

3. Day neutral plant / feay fAvues urey

4. Short day plant / 3{e4 fqa grqu

Correct Answer :-

e Longday plant/ a‘ﬁ%?mtn'c{q

77) Scab or wart like lesions on featherless part of body such as comb and wattles is symptom of which of the following
disease? /

wgmmﬁﬁwﬁmma@@mwwmmﬁmﬁﬁmﬁﬁmmm
AT ]2



1. Fowl pox / T3 Uled

2. Marek’s disease / Fe T AT
3. Ranikhet / JHIRId

4. Coccidiosis / DIITSTdT

Correct Answer :-

* Fowl pox /T 34 Ul

78) Nutrients which are required by plants in small quantity are referred as: /
TE UIue, Rt SRevd el &Y 3req A d gl @:

1. Micro nutrients / J&H lLG

2. Secondary nutrients / IEGIRED e

3. Primary nutrients / Ui U
4. Macro nutrients / Q_E?T‘[th'q?ﬁ

Correct Answer :-

« Micro nutrients / G&H UINDH

79) 2 kg bran plus 1kg jaggary or molasses moistened with lukewarm water is given to: /

2 foro. AR 3R 1 f. 7 a1 Wi &) 5 T u & Rrame A= &) Rarsran @:
1. Heifer / AR (S18WR) DI

2. Newly born calf / TGoId S5 S/d3 ! Bl

3. Freshly calved cow or buffalo / 8T &1 H &2 & 5= & aTei T a1 g 1

4. Pregnant cow / THaeht 710 &Y

Correct Answer :-

 Freshly calved cow or buffalo / BT _Eof o §=d &l o aef arelt T a7 4G Y

80) Milk secreting hormone oxytocin is secreted from: /

U W1 FA e gl sifefieiRe forer & wnfaa gar ?:
1. Posterior pituitary gland / Wﬁ?‘ﬁtﬁ'{q pIR] ( BIEGIIRER W 1%3)
2. Adrenal cortex / &ﬁlqw depC (Q%"Iﬂ m

3. Anterior pituitary gland / &rﬂaﬁ’flﬂw PR @ oRER ﬁ@\?ﬂ 1?!3)

4. Thyroid gland / 3(d¢ AR (YTIRTTS TAiS)

Correct Answer :-

« Posterior pituitary gland / Wﬂ?ﬁm =y ( qiREa” fﬁ’c‘ﬂ@ﬂ 1@'5’)

81) Milk produced by which of the following method is more hygienic? /

frafafee o @ frw faftr @ sanfea gu st W= glaT @2

1. Knuckling / A (T TT)



2. Stripping / % sp
3. Fisting / e
4. Machine milking / ENIEES] gy ge- (ﬂ'-‘l'ﬂ:f ﬁlm

Correct Answer :-

« Machine milking / AR 9 3 g (A= fAfeh)

82) Which of the following is the oldest method for poultry keeping? /
fFrfafed & & gage o o e R fafr s @ g2

1. Free Range system / 1 3ol Riew

2. Cage system / P ey

3. Semi-intensive system / It s%ﬁrq' e

4. Deep litter system / 3l forer Rew

Correct Answer :-

» Free Range system / 1 3 ey

83) Which of the following is the best crop for hay making? /

frfofed & & 19 @ vaa o9 9 & e waaw 32
1. Cow pea / THferAT

2. Green oat / Bl 1§

3. Green berseem / B SR

4. Lucerne / I

Correct Answer :-

e Lucerne/ W

84) Which of the following acid is used in the Gerber fat testing method? /

TR T T fafy & faaferfaa # & 59 st &1 IuaT frar sirar 82
1. Sulphuric acid / W STRT

2. Nitric acid / FTg E\@ HET

3. Hydrochloric acid / EE@H@W 3T

4. Carbonic acid / BT 3

Correct Answer :-

« Sulphuric acid / oW 3

85) Which of the following part of ruminant stomach contains 100 folds from inside called as laminae? /
At s & e # 9 fra e & iar & 100 A @)t €, R @ g1 wmar 82
1. Reticulum / m

2. Rumen / S8 (4H {THTRE)



3. Omasum / Jd1d STHRI

4. Abomasums /E@?j STHIRIY

Correct Answer :-

¢ Omasum / ﬂ?ﬂq SITHIRY

86) Which of the following is not a productive roughage? /
frafafed & 9 w1 @ SuTes Hiel aRT 78 82

1. Cowpea / aifean

2. Berseem / SRUTH

3. Green maize / Bﬁ HaDT
4, Lucerne / @7‘\:

Correct Answer :-
o Green maize / E?of HIDT

87) Which of the following is not the part of male reproductive system? /
frafafed & @ a1 =R uo== 73 ST U A 32

1. Scrotum / W

2. Testes / qUUT

3. Fallopian tubes / %EET%:?[ E |

4. Epididymis / 30T

Correct Answer :-

« Fallopian tubes / fEaanfet et

88) Which of the following is a deep rooted crop? /

frafafE & @ $19 @ v 168 7S Tl wud @ s i) g 82
1. Cabbage /Wﬁlﬁ
2. Onion / &I

3. Garlic / de g
4. Tomato / CHICX

Correct Answer :-
¢ Tomato / CHICR

89) Which of the following is a hand milking method? /

g fFreram ot Frafafaa faftrl & & feas a1y 3 gy e smar g2
1. Knuckling only / A AD T

2. Stripping only / &Had f\%\ﬁ’q

3. Fisting only / pad el



4. All of the above / 3Udad it

Correct Answer :-

« All of the above /wjaa gut

90) Which of the following is an external parasite of poultry bird? /
frefeEa & & B pepeura ueh (Wed 7) &1 are wweidl 2
1. Mites / HIgCH

2. Cestodes /@@SW

3. Nematodes / ﬁﬁ?ﬁ@\q

4. Termatodes / Eﬁ’cﬁ?{q

Correct Answer :-

« Mites / HIRCH

91) Piroplasmosis is also known as: /

UTERIETSHT @ e A & off ST S @
1. Only hagwan / Fad %TWF‘T

2. Only bulkandi / Had gADHS!

3. Only babesiosis / Fad SR

4. All of the above / ITRIad T

Correct Answer :-

e Only babesiosis / FId SeHadr

92) Wheatisa ____ season crop./
g FIgI @A sl

1. Zaid / ¥TQ

2. None of the above / Gcr!jaa oy ﬁ's‘ I8!
3. Kharif / @5

4. Rabi / TSt

Correct Answer :-

« Rabi /&t

93) is a muscular, dome-shaped partition between the thoracic and abdominal cavities. /

s Uit gt 8 < 9efia 9 Iediy fwrsit & ww aereR fAure gar g1
1. Pharynx / T (G IRTTa)
2. Diaphragm / HEIE5E (STATHHTH)
3. Bronchi / Si~bTg
4. Trachea / RATETST (¢fama)



Correct Answer :-

 Diaphragm / HHS ¢ (STUTHTH)

94) _ belongs to the legume family. /
_ fRiw (welt) uftar @ SEfa @1

1. Rice / d1dc]

2. Maize / HIh1

3. Gram /9T

4. Wheat / 71§

Correct Answer :-

e Gram /gl

95) is also known as wind pipe of animal respiratory system. /
P U] TG oF Pt ARG Tl & A0 A W ST S

1. Pharynx / DRIE|

2. Diaphragm / HIw9 & (E'Wmﬂ)

3. Bronchi / Eﬂﬁ'ﬂé

4. Trachea / TATG-Acl

Correct Answer :-
« Trachea / TaTg-Ac

96) In silage preparation after sealing, what happens to nitrate-N? /
Wi F a1 ATAS IR B | TSN &A1Y FT g1 82

1. None of the above / G'CPJTR‘T 7 ﬁé :lgT

2. Increases / dg SIIdl %

3. Remains constant / A gaT g

4. Decreases / ©H Epf SITdl %

Correct Answer :-

e Decreases / DH Eﬁ SITdT %

97) Leafy vegetables are mainly grown during .
ToR Aol 4 =0 9 & R SIS AT &
1. rainy season / au’fm

2. winter season / 2fid Bd

3. summer season / g Bd

4. round the year / LRI

Correct Answer :-



 winter season / R[[d B

98) Roughages are the feed stuff which contains more than _____ of crude fiber and less than __ of TDN. /

TYeT IRT T @reg It @ R srafvspd BigeR & q it aur AT F q S YT o B
1. 20%, 70%

2. 16% , 60%

3.22% , 80%

4. 18% , 60%

Correct Answer :-
e 18%,60%

29) A dry matter intake/100 kg body weight is recommended for breeding bull. /

%mqaaa;m af 100 e MRS ao@ & ftare 3 e verd (@18 #ew) &1 da7 =R farar sirar
[

1. 4 kg/ 4 farmg
2. 8 kg/ 8 fopamH
3. 6 kg/ 6 fopaaTH
4.2 kg /2 fraum

Correct Answer :-

« 2kg/2 fHamm

100) On an average every cow or buffalo produces kg dungs. /
Tde T AT Ag ufafeT ofigad _ fum. MeaR &1 Sdred #dl B
1.3-4

2. 10-20

3.5-10

4. 30-40

Correct Answer :-

e 10-20



